[ normalized x? probability |

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

Ratio

<o pTIpT > (Yo)

Entries

%24 6 8 10 12 14 16 18 20

Na Prob(x?)
=== DQM_TT_time_newbranch
== DQM_TT_newbranch_time_pLess
s 5
2.4F B
22 A 4
. =
) 2 3
-
1.8] g_ 2
. v |
1.6
o 0|
1.4
!
1.2
-2
1E-
-3
0.8F
-4
0.6F :
Il Il Il Il Il 5
Lo 4 o 5
T
4
1+ -
0.95 . . A : " 0.95 . . . "
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
n TP n (PCA to beamline)
L . N N A E
I SN S TR S S g 1o
: : B : %< 1.6F-
I P - L e v o
Lo : T : L4F-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o
T
14
0.5F
*lo 1 10 10° 0° 107 1072 107
F}T AR(track, jet?




	Contents
	Page 1


